Texas T Parts
711 Ashford Hills Drive
Bryan, Texas 77801

(979) 260-5433  1-800-337-6977
Fax (979) 260-1214

www.TexasTParts.com

Floating Safety Hub Installation Instructions
Item# T2887-Wood

An important factor in making
an easy running and reliable

TRUE SAFETY FULL FLOATING REAR HUBS

After bolting your wheel to the safety hub with the carriage bolts,
secure the assembly by drilling through the guide holes 1-1/4" deep

highway car is a ball-bearing
rear axle. In the regular Ford
construction, the load is

with a #3 wire guage or 7/32" drill. Tap all six locations with a
1/4-28 tap. Install the 1/4-28x1" bolts.

3/8-24 Retainer Bolt & Nut

Bolt must fit into groove in sleve.

Bolt MUST NOT be jammed against sleeve.
Sleeve must be allowed to work back

and forth for end play.

Bolts
Grade 5 or better

Tighten lock nut securely.

transmitted from the housings
through the roller bearings to the
axle shaft and to the wheel hub.
The weight of the car is
supported by the axle shaft. This
causes severe bending strains in
the axle shaft. The ball-bearings

35-40 Ft. Lbs. Modern Seal

Inner Sleeve
Retaining Groove

Use Loctite on
threads. Peen

i ds of bolts t 4 Sealing O-Ring .
of this safety hub replace the prant it ot o e DO fo O-fig
coming loose.

outer roller bearings, but with
the radical difference that the

Grade 8 Nuts Outer Bearing Retainer

Q/

Ball-bearings transmitt the
weight of the car directly from the axle housing through the ball-bearings to the rear wheels.

In the ball-bearing construction, the axle shafts carry only the driving and braking effects and are only
subjected to twisting strains. When using the standard Hyatt bearings, axle shafts have twisting strains and
severe bending strains due to the loading and bouncing of the car. The bending strains are responsible for the
grooves that develop on the axle with the regular Ford Construction.

Remove Hyatt Bearing and bearing
sleeve.  Cut 1" of f Axle Housing
Tube at this point. You canuse a
hacksaw or 3" pneumatic muffler
cutter. Slide steel or PVC pipe over
the Axle Shaft to protect it from
your "OOOPS".

To modify the car for improvement, the
outer roller bearing and the bearing sleeve
are removed. Since about 1 inch of the steel
tubing projects outwardly from the brake
flange, it is necessary to cut off this portion
of the tubing to allow the annular bearing to

Clean oil and steel shavings
out of axle housing and fﬁe
any burrs off the inside of
your saw cut so the "O" rin
on the Floating Hub will pus
into the axle housing smoothly.

6rind your keyway as shown
so the modern seal on the

EloaTingdHub will F?:(T bﬁ : ]

assertoly onlo the axle | . fitproperly into place.

shaft. — —~— | ~ The ball-bearing assembly is bolted to the

) g wheel hub and brake drum. The entire
assembly is then placed in position by
: 1§ pushing the ball-bearing carrier into the axle

You may want to tack weld i housing until the wheel hub fits tlghﬂy on

your keyway to the axle. .
the tapered portion of the axle shaft.



The grease cup is removed so that you may see the location of the Retaining Groove in the Inner Sleeve Bearing
Support. Center punch a mark on the outside of the axle housing for drilling a hole for the retaining bolt. The
retaining bolt should be centered in the Retaining Groove. The assembly is removed and a hole is drilled and
tapped through the steel brake drum housing and the steel tubing as shown in the sketch.

A bolt and lock nut are used to keep the sleeve locked in place. The bolt must not be tightened against the
sleeve as this will prohibit the sleeve from finding its alignment position. However, the bolt must penetrate
enough to keep the inner sleeve in place. This also keeps the wheel from coming off, even the driving member
of the axle shaft breaks.

The steel inner sleeve or bearing support has a hole of sufficient diameter to clear the axle by 1/8 inch. The
outer diameter of the bearing support has very close tolerance to the inside diameter of the steel tubing to
eliminate transfer of bending strains to the axle. The ball-bearing in held in place by the steel outer bearing
retainer and a ridge on the inner sleeve, as shown in the sketch.

This makes a very safe axle construction and performs still another function in that, when the assembly is put

Assemble parts with & grade 5 carriage belts and grade 8 nuts.
Do MOT REMOVE SPORES

-
A i

Remove axle and bearing sleewve. —r g TEAE B RT

Saw 7/8" off the end of the axle housing. = /r/,_ PFFN BOLT TO EXDAND

GRADE 5 BOLT  — [{— EMD AFTER TI1GHT
\‘-\‘.

CUT OFF ._1| I\'. q-r :
——1 T

INNER BEARIMG —/,,

B
|
I
|
k-
N
-—| ~=—|, **FOR SAFETY**
- | .~ Add & 1/4-28&x1" bolts.

SURRORT ‘ L. s
/ —
AL ¢ Jd
; ~ . 1l- Drill & .213 holes between 3/B"
I e nuts through bearing retainer,
CUT OFF HERE - [~ brake drum, hub and into wooden
| spoke about 1-1/4° deep.

Tap 1/4-28 and inztall belts.

in position, the axle shaft nut and key are secured in their relative positions.

Helpful Info. The top inside end of the axle key needs to be tapered to
provide clearance for floating hubs to slide over the axle shaft.
If clearance is not provided, the floating hub will be damaged.

i 1-7/16”
*
147

1/8”
> 5/16” 5/16”

2-7/8”

The ends of the axle key need to be ground so that
they do not ride up in the keyway where the ends
curve up at the ends of the cut. This applies to all
axle keys on all Model T axles.




